[ > restart
| SOLUCIONES GENERALES, PARTICULARES Y FUNDAMENTALES
> SolucionGeneral := y(x) =Cl-exp(x) + C2-exp(2-x) + C3-exp(3-x) + C4-exp(-2-X);
SolucionGeneral := y(x) =C1 "+ C2 e* + C3 e** 4 C4 72"

=> SolFund[1] := exp(x); SolFund[2] := exp(2-X); SolFund[3] := exp(3-x); SolFund[4]
= exp(-2-X);
SolFund, :=€"

SolFund, := e**
SolFund, := e**
SolFund, := e >

(> WW = array([[SoIFundl, SolFund,, SolFund,, SoIFund4], [diff (SoIFundl, X),
diff (SolFund,, x), diff (SolFund,, x), diff (SolFund,, x) ], [diff ( SolFund,, x$2),
diff (SolFund,, x$2), diff ( SolFund,, x$2), diff (SolFund,, x$2) |, [diff (SolFund,, x$3),
diff (SolFund,, x$3), diff ( SolFund,, x$3), diff (SolFund,, x$3) 1]);

ex e2x e3x e—2x
e 26%% 363 2072
WW =
e 4e2* 9% 4%
e 8e?* 27¢%* -8 %X
;> with(linalg) :
> WWW := wronskian  [SolFund,, SolFund,, SolFund,, SolFund, ], x);
ex er e3x e—2x
ef 2e2* 3% -2
WWW :=

e 4e®* 9e3* 47

2X

e 8e?* 27e%% -ge”

B comprobacion := det(WWW) = 0;
| comprobacion := -120 ¢*e**e3*e X =« 0
> SolucionGeneral;
i y(x) =CL€& +C2e*+C3¢e>* +Cae
> Sistema := diff (SolucionGeneral, x), diff (SolucionGeneral, x$2), diff (SolucionGeneral, x
$3), diff (SolucionGeneral, x$4) : Sistema,; Sistema,; Sistema,; Sistema,;
O?X y(x)=Cle"+2C2e**+3C3e¥*—2Cae72*

d2

. y(x) =Cle*+4C26°* +9C3e™ +4Cae™
X
d3 X 2X 3X -2X
Fy(x):me +8C2e""4+27C3e7"—8C4e
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4
% y(x) =Cle*+16 C2e**+81C3e** +16 C4 e~
X

=> SOL := solve( {Sistema}, {C1, C2, C3, C4}) : SOL,; SOL,; SOL,; SOL,;

d? d d° d*
4 == +12 [ — -3 = + =
o [ 5 y(x)j ( ix y(x)) ( " y(x)) " y(X)

dx
= < eX
d? a3 d*
-5 —= y(X +6(— X)| —2 | —= y(x — V(X
ot [dxz y()] o Y| (dxg y()) L5V
8 e2x
d? d d° J d*
4| = yX) | F4 | oYX | — | == Y(X) | + =7 Y(X
L (dxz y( )) (G Y] (dxg ) |+ 5 00
~ 30 e3x
d? d ik d*
-11 | —= y(x +6(— x)+6[— x)—[— x]
Ch=-—1+ [dxz Y()j o Y 7 y(x) OIX4y()
120 02X

[ > SolucionGeneral;

] y(x) =Cle'+C2e°*+C3e°*+Che

[ > Ecuacionintermedia := subs(Cl = rhs(SOLl), C2= rhs(SOLz), C3= rhs(SOL3), C4
= rhs(SOL4), Ihs(SolucionGeneral) — rhs(SolucionGeneral) = O);

. o ¢ 4 d
EcuacionIntermedia:=y(x) + 2 42 y(X) 3 dx

1 d 1 d
X))+ —= YX) — —— —5 Y(X)
g 3 Y 12 gy g

=0

[ > EcuacionDiferncialFinal := Ihs (Ecuacionintermedia) - (-12) =0;
2 3

ionDiferncialFinal -= - [ a4 4|
EcuacionDiferncialFinal := -12 y(x) [ o y(x)] + 16 ( X y(x)) 4 [ 0 y(x))
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